N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

2 F 2 F 2
8 of & of 8
20°F S10°F s
E S F ]
b & S10?
10°F 1 £
E E =]
E E °
10°F 10°F
b b 10
10%F 10%F
10 3 10 3
F F 4
1k . 1
oV origmnal
S DQM man . TTNEWnoMS- genMatch CUT
o - 7 T : T = 14
055720-15-10 -5 0 5 10 1530725 °'—z5—zo—15 10 5 o 5 10 15735735 5=20-15-10 5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F ¢ ¥ ¢ g
[*] I Q I [=] [5)
s g g g
al_. 3 Q
1 S10°E 210 g
= F & S
b a
[ 310
10° 10° 3 102
10%F 10°F 10
E ¢ E
10 10 1
TR BT T T T P Foooo | [T P
o ; . . o o+ . . o
g i bl Et ki ][
| W feeie | (il b L i
: : : 1 d HH
¥ 20 -10 0 10 20 30 0¥ 20 -10 0 10 20 30 0¥ 20 -10 10 20 30 5520 -i0 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


